

APPLICATION OF I-FUNCTION IN FRACTIONAL DIFFERENTIAL OPERATOR INVOLVING GENERALIZED CLASS OF POLYNOMIAL

A.K. Ronghe and Neelu Choudhary

Department of Mathematics,
S.S.L. Jain P.G. College,
Vidisha - (M.P.)

(Received: March 2007, Accepted January 2009)

1. Introduction

The I-function of one variable is defined by Saxena [7] and further studied by Vaishya, Jain and Verma [10], Sharma and Shrivastava [8] with certain properties, Series, Summation, Integration etc. of this function we will represent and define here the I-function of one variable as follows:

$$I_R[Z] = I_{P_i, Q_i; R}^{M, N} \left[Z \left| \begin{matrix} \dots, \dots \\ \dots, \dots \end{matrix} \right. \right]$$
$$= I_{P_i, Q_i; R}^{M, N} \left[Z \left| \begin{matrix} [(a_j \cdot \alpha_j)]_{I, N} [(a_{j_i} \cdot \alpha_{j_i})]_{N+I, P_i} \\ [(b_j \cdot \beta_j)]_{I, M} [(b_{j_i} \cdot \beta_{j_i})]_{M+I, Q_i} \end{matrix} \right. \right] = \frac{1}{2\pi w^1} \int_0(s) z^s ds \quad \dots (1.1)$$

(Published : December 2009)

where $w^1 = \sqrt{-1}$ and

$$0(s) = \frac{\prod_{j=1}^M \Gamma(b_j - \beta_j s) \prod_{j=N+1}^N \Gamma(1 - a_j - \alpha_j s)}{\sum_{i=1}^R \left[\prod_{j=M+1}^{Q_i} \Gamma(1 - b_{j_i} - \beta_{j_i} s) \prod_{j=N+1}^{P_i} \Gamma(a_{j_i} - \alpha_{j_i} s) \right]} \quad \dots (1.2)$$

The integral (1.1) converge absolutely, if

$$|\arg z| < \frac{\beta_i \pi}{2}, \quad (\beta_i > 0), \quad (A_i = 0)$$

where
$$A_i = \sum_{N+1}^{P_i} \alpha_{j_i} - \sum_{j+1}^{Q_i} \beta_{j_i}, \quad \dots (1.3)$$

and
$$B_i = \sum_{j=1}^N \alpha_j - \sum_{j=N+1}^{P_i} \alpha_{j_i} + \sum_{j=1}^M \beta_j - \sum_{j=M+1}^{\alpha_i} \beta_{j_i} \quad \dots (1.4)$$

for further details and asymptotic expansion of the above function (1.1) refer to [8] and [9].

2. Preliminaries

$$D_x^\alpha (ax + b)^{\mu-1} = \frac{a^\alpha \Gamma \mu}{\Gamma \mu - \alpha} (ax + b)^{\mu-\alpha-1} \quad \dots (2.1)$$

$$D_{k,\alpha,x} (ax + b)^{\mu-1} = \frac{\Gamma(1 + \mu) a^\alpha (ax + b)^{\mu+k}}{\Gamma(\mu - \alpha + 1)}, \quad \text{where } \alpha \neq \mu \quad \dots (2.2)$$

$$D_{k,\alpha,x}^n (ax + b)^\mu = [a]^{\frac{n\mu+n(n-1)K}{2}} \prod_{r=0}^{n-1} \frac{\Gamma(1 + \mu + rK)}{\Gamma(1 + \mu + rK - \alpha)} (ax + b)^{\mu+nk} \alpha \neq \mu + i \quad \dots (2.3)$$

when $k = \alpha$, equation (2.3) becomes,

$$D_{\alpha, \alpha, x}^n (ax + b)^\mu = [a]^{\frac{n\mu + n(n-1)K}{2}} \frac{\Gamma(1 + \mu + (n-1)\alpha)}{\Gamma(1 + \mu - \alpha)} (ax + b)^{\mu + nk} \dots (2.4)$$

taking $a = 1$, $b = 0$ in (2.1) to (2.4) we get the results due to Oldham and Spanier [5, Pg. 49]

3. The General Class of Polynomials

Srivastava [9] introduced and studied the general class of polynomial. Which is defined in the following manner.

$$S_N^M [x] = \sum_{K=0}^{[N/M]} \frac{(-N)_{MK}}{[K]} A_{N,K} (x^K), \quad (N = 0, 1, 2 \dots) \dots (3.1)$$

where M is an arbitrary positive integer and the coefficient $A_{N,K}$ ($N, K \geq 0$) are arbitrary constant real or complex.

4. Required Results

The following two theorems given by Goyal, Saxena [2] and Ronghe [6] are required to establish main theorems.

Theorem 1st

$$D_{K, \lambda, -\mu, t}^m \left\{ t^{\lambda-1} S_N^M [wt^\rho] f[(ax+b)t] \right\} = \sum_{h=0}^{[N/M]} \frac{(-N)_{Mh}}{[h]} w^h A_{N,h} t^{\lambda + \delta h + Km-1} \times$$

$$\times \prod_{p=0}^{m-1} \frac{\Gamma(\lambda + \rho h + \rho K)}{\Gamma(\mu + \delta h + \rho K)} \sum_{n=0}^{\infty} \frac{[-(ax+b)]^n}{[n]} D_x^n \{f(ax+b)\}$$

$${}_{m+1}F_m \left(\begin{matrix} -n, \lambda + \rho h, \lambda + \rho h + K, \dots, \lambda + \rho h + (m-1)K \\ \mu + \rho h, \mu + \rho h + K, \dots, \mu + \rho h + (m-1)K \end{matrix} ; t \right) \dots (4.1)$$

Theorem IInd

$$D_{K,\lambda,-\mu,t}^m t^A S_N^M [wt^p] f[(ax+b)t] = \sum_{h=0}^{[N/M]} \frac{(-N)_{Mn}}{[n]} W^h A_{N,h} t^{\lambda+\rho h+Km-1} \prod_{p=0}^{m-1} \frac{\Gamma(\lambda+\rho h+pK)}{\Gamma(\mu+\rho h+pK)}$$

$$\sum_{n=0}^{\infty} \prod_{p=0}^{m-1} \left\{ \frac{(1-\mu-\rho h-pK)_n}{(1-\lambda-\rho h-pK)_n} \right\} \frac{(-t)^n}{[n]}$$

$${}_{m+1}F_m \left(\begin{matrix} -n, \lambda + \rho h, \lambda + \rho h - n + K, \dots, \lambda + \rho h - n + (m-1)K \\ \mu + \rho h - n, \mu + \rho h - n + K, \dots, \mu + \rho h - n + (m-1)K \end{matrix} ; t \right) \times$$

$$D_x^n \left\{ (ax+b)^n f(ax+b) \right\}, \quad \dots (4.2)$$

Result (4.1) and (4.2) are valid if the series involved in required results and absolutely convergent.

5. Main Theorems

In this section we will derive two Multiplication theorems with the help of (4.1) and (4.2),

Theorem 1

$$(ax+b)^{-b\alpha_i} \sum_{\ell=0}^{[N/M]} \frac{(-N)_{M\ell}}{[\ell]} A_{N,\ell} W^\ell t^{\lambda+\rho\ell+b\alpha_i+mK-1} I_{P_i+m, Q_i+m; R}^{M, N+m}$$

$$\left[[(ax+bt)^{\beta Q_i}] \left(\begin{matrix} (a_j, \alpha_j)_n, (1-\lambda+\delta\ell+b\alpha_i-pK, \beta\alpha_i)_{p=0,1,\dots,m-1}, (a_j, \alpha_j)_{N+1, P_i} \\ (b_j, \beta_j)_{1, M}, (1-\mu+\delta\ell+b\alpha_i-pK, \beta\alpha_i)_{p=0,\dots,m-1}, (b_j, \beta_j)_{M+1, Q_i} \end{matrix} \right) \right]$$

$$\sum_{h=0}^{[N/M]} \frac{(-N)_{Mn}}{[n]} A_{N,h} W^h t^{\lambda+\delta h+Km-1} \prod_{p=0}^{m-1} \frac{\Gamma(\lambda+\delta h+pK)}{\Gamma(\mu+\delta h+pK)}$$

$$\begin{aligned}
 & {}^{m+1}F_m \left(\begin{matrix} -n, \lambda + \delta h, \lambda + \delta h + K, \dots, \lambda + \delta h + (m-1)K \\ \mu + \delta h, \mu + \delta h - n + K, \dots, \mu + \delta h + (m-1)K \end{matrix} ; t \right) \cdot a^n (ax+b)^{b\alpha_i} \\
 & \times I_{P_i, Q_i; R}^{M, N+m} \left[(ax+b)^{\beta_{Q_i}} \left| \begin{matrix} (a_j \cdot \alpha_j)_{1, N} (a_{j_i} \cdot \alpha_{j_i})_{N+1, P_i} \\ (b_j \cdot \beta_j)_{1, M} (b_{\alpha_i} + n, \beta_{\alpha_i}) (b_{j_i} \cdot \beta_{j_i})_{M+1, Q_i} \end{matrix} \right. \right] \dots (5.1)
 \end{aligned}$$

Theorem 2

$$\begin{aligned}
 & (ax+b)^{-a_i} \sum_{\ell=0}^{[N/M]} \frac{(-N)_{M\ell}}{[\ell]} A_{N, \ell} \mathcal{W}^\ell t^{\lambda + \delta \ell - a_i + mK} I_{P_i+m, Q_i+m; R}^{M, N+m} \\
 & \left[[(ax+b)t] \left| \begin{matrix} (a_j \cdot \alpha_j)_{1, N} (a_1 - \lambda + \delta \ell - PK, \alpha_i)_{p=0, 1, \dots, m-1}, (a_{j_i} \cdot \alpha_{j_i})_{N+1, P_i} \\ (b_j \cdot \beta_j)_{1, M} (a_1 - \mu + \delta \ell - PK, \alpha_i)_{p=0, 1, \dots, m-1}, (b_{j_i} \cdot \beta_{j_i})_{M+1, Q_i} \end{matrix} \right. \right] \\
 & = a^n (ax+b)^{-a} \sum_{h=0}^{[N/M]} \frac{(-N)_{Mh}}{[h]} A_{N, h} \mathcal{W}^h t^{\lambda + \delta h + Km-1} \prod_{p=0}^{m-1} \frac{\Gamma(\lambda + \delta h + PK)}{\Gamma(\mu + \delta h + PK)} \\
 & \quad \prod_{p=0}^{m-1} \frac{\Gamma(1 - \mu - \delta h - PK)_n}{\Gamma(1 - \lambda - \delta h - PK)_n} \frac{(-t)^n}{[n]}.
 \end{aligned}$$

$$\begin{aligned}
 & {}^{m+1}F_m \left(\begin{matrix} -n, \lambda + \delta h - n, \lambda + \delta h - n + K, \dots, \lambda + \delta h - n + (m-1)K \\ \mu + \delta h - n, \mu + \delta h - n + K, \dots, \mu + \delta h - n + (m-1)K \end{matrix} ; t \right) \\
 & I_{P_i, Q_i; R}^{M, N+m} \left[(ax+b)^{\alpha_i} \left| \begin{matrix} (a_j \cdot \alpha_j)_{1, N} (a_i - n; \alpha_i)_{N+1}, (a_{j_i} \cdot \alpha_{j_i})_{N+1, P_i} \\ (b_j \cdot \beta_j)_{1, M} (b_{j_i}, \beta_{j_i})_{M+1, Q_i} \end{matrix} \right. \right] \dots (5.2)
 \end{aligned}$$

Provided $\text{Re}(-a_1 + \max a_1 (a_j/\alpha_j)) > 0, |\arg z| < \frac{\beta_i \pi}{2}$,

Proof of the Multiplication Theorem Ist

For proof of (4.1) we take,

$$f(ax+b) = (ax+b)^{-bQ_i} I_{P_i, Q_i; R}^{M, N} \left[(ax+b)^{\beta Q_i} \begin{matrix} (a_j \cdot \alpha_j)_{1, N} (a_{j_i} \cdot \alpha_{j_i})_{N+1, P_i} \\ (b_j \cdot \beta_j)_{1, M} (b_{j_i} \cdot \beta_{j_i})_{M+1, Q_i} \end{matrix} \right]$$

so the R.H.S. of (4.1) becomes,

$$\sum_{h=0}^{[N/M]} \frac{(-N)_{Mh}}{[h]} w^h A_{N, h} t^{\lambda + \delta h + Km - 1} \prod_{p=0}^{m-1} \frac{\Gamma(\lambda + \delta h + PK)}{\Gamma(\mu + \delta h + PK)} \sum_{n=0}^{\infty} \frac{(-1)^n}{[n]}$$

$${}_{m+1}F_m \left(\begin{matrix} -n, \lambda + \delta h, \lambda + \delta h + K, \dots, \lambda + \delta h + (m-1)K \\ \mu + \delta h, \mu + \delta h + K, \dots, \mu + \delta h + (m-1)K \end{matrix} ; t \right)$$

$$D_x^n \left\{ (ax+b)^{-bQ_i} I_{P_i, Q_i; R}^{M, N} \left[(ax+b)^{\beta Q_i} \begin{matrix} (a_j \cdot \alpha_j)_{1, N} (a_{j_i} \cdot \alpha_{j_i})_{N+1, P_i} \\ (b_j \cdot \beta_j)_{1, M} (b_{j_i} \cdot \beta_{j_i})_{M+1, Q_i} \end{matrix} \right] \right\}$$

Now we have,

$$D_x^n \left\{ (ax+b)^{-bQ_i} I_{P_i, Q_i; R}^{M, N} \left[(ax+b)^{\beta Q_i} \begin{matrix} (a_j \cdot \alpha_j)_{1, N} (a_{j_i} \cdot \alpha_{j_i})_{N+1, P_i} \\ (b_j \cdot \beta_j)_{1, M} (b_{j_i} \cdot \beta_{j_i})_{M+1, Q_i} \end{matrix} \right] \right\}$$

$$\Rightarrow D_x^n \left\{ (ax+b)^{-bQ_i} \frac{1}{2\pi\omega} \int \theta(s) \cdot (ax+b)^{\beta\alpha_i s} ds \right\}$$

$$\Rightarrow \frac{1}{2\pi\omega} \int_L \theta(s) \cdot D_x^n (ax+b)^{-b\alpha_i s + \beta\alpha_i s - 1 + 1} ds$$

$$\begin{aligned} &\Rightarrow \frac{1}{2\pi\omega} \int_L \frac{\prod_{j=1}^M \Gamma(b_j - \beta_j s) \prod_{j=1}^N \Gamma(1 - a_j - \alpha_j s)}{\sum_{i=1}^R \left[\prod_{j=M+1}^{Q_i} \Gamma(1 - b_j - \beta_j s) \prod_{j=N+1}^{P_i} \Gamma(a_j - \alpha_j s) \right]} ds \\ &\Rightarrow \frac{1}{2\pi\omega} \int_L \frac{\prod_{j=1}^M \Gamma(b_j - \beta_j s) \prod_{j=1}^N \Gamma(1 - a_j + \alpha_j s) \Gamma[1 - (a_i - n) + \alpha_i s] a^n (ax+b)^{-a_i} (ax+b)^{-\alpha_i s}}{\sum_{i=1}^R \left[\prod_{j=M+1}^{Q_i} \Gamma(1 - b_j - \beta_j s) \prod_{j=N+1}^{P_i} \Gamma(a_j - \alpha_j s) \right]} ds \\ &\Rightarrow a^n (ax+b)^{-a_i} I_{P_i, Q_i; R}^{M, N+m} \left[(ax+b)^{\alpha_i} \begin{matrix} (a_j, \alpha_j)_{2, N} (a_i - n; \alpha_i) (a_j, \alpha_j)_{N+1, P_i} \\ (b_j, \beta_j)_{1, M} (b_j, \beta_j)_{M+1, Q_i} \end{matrix} \right] \end{aligned}$$

therefore the R.H.S. of (4.2) becomes

$$\begin{aligned} &\sum_{h=0}^{[N/M]} \frac{(-N)_{Mh}}{[h]} A_{N, h} t^{\lambda + \delta h + Km - 1} \prod_{p=0}^{m-1} \frac{\Gamma(\lambda + \delta h + PK)}{\Gamma(\mu + \delta h + PK)} \prod_{p=0}^{m-1} \frac{\Gamma(1 - \mu - \delta h - PK)}{\Gamma(1 - \lambda - \delta h - PK)} \frac{(-t)^n}{[n]} \\ &{}_{m+1}F_m \left(\begin{matrix} -n, \lambda + \delta h - n, \dots, \lambda + \delta h - n + (m-1)K \\ \mu + \delta h - n, \dots, \mu + \delta h - n + (m-1)K \end{matrix} ; t \right) a^n (ax+b)^{-a_i} \\ &I_{P_i, Q_i; R}^{M, N+m} \left[(ax+b)^{\alpha_i} \begin{matrix} (a_j, \alpha_j)_{2, N} (a_i - n; \alpha_i) (a_j, \alpha_j)_{N+1, P_i} \\ (b_j, \beta_j)_{1, M} (b_j, \beta_j)_{M+1, Q_i} \end{matrix} \right] \end{aligned}$$

Also the L.H.S. of (4.2) becomes

$$\begin{aligned} &D_{K, \lambda, -\mu, t}^m \left\{ t^\lambda S_N^M [wt^\delta] f[(ax+b)t] \right\} \\ &\Rightarrow D_{K, \lambda, -\mu, t}^m \left\{ t^\lambda \sum_{\ell=0}^{[N/M]} \frac{(-N)_{M\ell}}{[\ell]} A_{N, \ell} w^\ell t^{\delta \ell} [(ax+b)t]^{-a} \right. \\ &\quad \left. I_{P_i, Q_i; R}^{M, N+m} \left[[(ax+b)]^{\alpha_i} \begin{matrix} (a_j, \alpha_j)_{1, N} (a_j, \alpha_j)_{N+1, P_i} \\ (b_j, \beta_j)_{1, M} (b_j, \beta_j)_{M+1, Q_i} \end{matrix} \right] \right\} \end{aligned}$$

$$\begin{aligned}
&\Rightarrow D_{K,\lambda,-\mu,t}^m \left\{ t^\lambda \sum_{\ell=0}^{[N/M]} \frac{(-N)_{M\ell}}{\lfloor \ell} A_{N,\ell} w^\ell t^{\delta\ell} (ax+b)t^{-a_1} \frac{1}{2\pi\omega} \int \theta(s) \cdot (ax+b)^{\alpha_i s} t^{\alpha_i s} ds \right\} \\
&\Rightarrow \sum_{\ell=0}^{[N/M]} \frac{(-N)_{M\ell}}{\lfloor \ell} w^\ell A_{N,\ell} (ax+b)^{-a_i+\alpha_i s} \frac{1}{2\pi\omega} \int \theta(s) \cdot D_{K,\lambda,-\mu,t}^m (t^{-\lambda+\delta\ell-a_i+\alpha_i s}) ds \\
&\Rightarrow \sum_{\ell=0}^{[N/M]} \frac{(-N)_{M\ell}}{\lfloor \ell} w^\ell A_{N,\ell} (ax+b)^{-a_i+\alpha_i s} \frac{1}{2\pi\omega} \\
&\quad \int \frac{\prod_{j=1}^M \Gamma(b_j - \beta_j s) \prod_{j=1}^N \Gamma(1 - a_j - \alpha_j s) \prod_{p=0}^{m-1} \Gamma(\lambda + \delta\ell - a_1 s + 1 + PK) t^{\lambda+\delta\ell-a_i+\alpha_i s+PK}}{\sum_{i=1}^R \left[\prod_{j=M+1}^{Q_i} \Gamma(1 - b_j - \beta_j s) \prod_{j=N+1}^{P_i} \Gamma(a_j - \alpha_j s) \right] \prod_{p=0}^{m-1} \Gamma(\lambda + \delta\ell - a_1 s + 1 + PK - \lambda + \mu)} \\
&\Rightarrow a^n (ax+b)^{-a_1} \sum_{\ell=0}^{[N/M]} \frac{(-N)_{M\ell}}{\lfloor \ell} A_{N,\ell} w^\ell t^{\lambda+\delta\ell-a_1+PK} \frac{1}{2\pi\omega} \quad (\text{by using 2.3}) \\
&\quad \int \theta(s) \cdot \prod_{p=0}^{m-1} \frac{[\Gamma(1 - (a_1 - \lambda - \delta\ell - PK) + \alpha_i s)]}{[\Gamma(1 - (a_1 - \delta\ell - PK - \mu) + \alpha_i s)]} \cdot (ax+b)^{-\alpha_i s} t^{-\alpha_i s} ds \\
&\Rightarrow (ax+b)^{-a_1} \sum_{\ell=0}^{[N/M]} \frac{(-N)_{M\ell}}{\lfloor \ell} w^\ell A_{N,\ell} t^{\lambda+\delta\ell-a_1+PK} \\
&\quad I_{P_i+m, Q_i+m; R}^{M, N+m} \left[[(ax+b)t]^{\alpha_i} \left| \begin{matrix} (a_j, \alpha_j)_{1,n} (a_i - \lambda + \delta\ell - PK)_{p=0,1,\dots,m-1}, (a_{j_i}, \alpha_{j_i})_{N+1, P_i} \\ (b_j, \beta_j)_{1,M} (a_i - \delta\ell - PK - \mu)_{p=0,\dots,m-1}, (b_{j_i}, \beta_{j_i})_{M+1, Q_i} \end{matrix} \right. \right]
\end{aligned}$$

so from L.H.S. and R.H.S. of above equation we get the desired result (5.2)

Applications

(i) Considering for theorem I, If $a = 1$, $b = 0$ in (5.1) we have,

$$\sum_{\ell=0}^{[N/M]} \frac{(-N)_{M\ell}}{\lfloor \ell} A_{N,\ell} w^\ell t^{\lambda+\delta\ell-b_{\alpha_i}+mK-1}$$

$$\begin{aligned}
& I_{P_i+m, Q_i+m; R}^{M, N+m} \left[(xt)^{\beta_{Q_i}} \left| \begin{array}{l} (a_j \cdot \alpha_j)_{1, N} (1 - \lambda - \delta \ell + b_{Q_i} - PK; \beta_{Q_i})_{p=0, 1, \dots, m-1}, (a_{j_i} \cdot \alpha_{j_i})_{N+1, P_i} \\ (b_j \cdot \beta_j)_{1, M} (1 - \mu - \delta \ell + b_{Q_i} - PK; \beta_{Q_i})_{p=0, \dots, m-1}, (b_{j_i} \cdot \beta_{j_i})_{M+1, Q_i} \end{array} \right. \right] \\
&= \sum_{h=0}^{[N/M]} \frac{(-N)_{Mh}}{[h]} A_{N, h} W^h t^{\lambda + \delta h + mK - 1} \prod_{p=0}^{m-1} \left[\frac{\Gamma(\lambda + \delta h + PK)}{\Gamma(\mu + \delta h + PK)} \right] \sum_{n=0}^{\infty} (-1)^n \\
& \quad {}_{m+1}F_m \left(\begin{array}{l} -n, \lambda + \delta h - n, \dots, \lambda + \delta h + (m-1)K \\ \mu + \delta h, \mu + \delta h + K \dots \mu + \delta h - n + (m-1) \end{array} ; t \right) \\
& I_{P_i+m, Q_i+m; R}^{M, N+m} \left[(xt)^{\beta_{Q_i}} \left| \begin{array}{l} (a_j \cdot \alpha_j)_{1, N} (a_{j_i} \cdot \alpha_{j_i})_{N+1, P_i} \\ (b_j \cdot \beta_j)_{1, M} (b_{j_i} \cdot \beta_{j_i})_{M+1, Q_i} (b_{Q_i} \cdot \beta_{Q_i}) \end{array} \right. \right]
\end{aligned}$$

The condition (4.1) are satisfied.

(ii) Reconsidering for theorem I. If $a = 1$, $b = 0$, $R = 1$ in (5.1) it reduced result of Nigam [4], involving Fox's H-function [1]

$$\begin{aligned}
& \sum_{\ell=0}^{[N/M]} \frac{(-N)_{M\ell}}{[\ell]} A_{N, \ell} W^\ell t^{\delta \ell - b_\alpha} H_{P+m, Q+m}^{M, N+m} \left[(xt)^{\beta_Q} \left| \begin{array}{l} (a_j \cdot \alpha_j)_{1, P} (1 - \lambda - \delta \ell + b_Q - PK; \beta_Q)_{p=0, 1, \dots, m-1} \\ (b_j \cdot \beta_j)_{1, Q} (1 - \mu - \delta \ell + b_Q - PK; \beta_Q)_{p=0, \dots, m-1} \end{array} \right. \right] \\
&= \sum_{h=0}^{[N/M]} \frac{(-N)_{Mh}}{[h]} A_{N, h} W^h t^{\delta h} \prod_{p=0}^{m-1} \left[\frac{\Gamma(\lambda + \delta h + PK)}{\Gamma(\mu + \delta h + PK)} \right] \sum_{n=0}^{\infty} (-1)^n \\
& \quad {}_{m+1}F_m \left(\begin{array}{l} -n, \lambda + \delta h - n, \dots, \lambda + \delta h + (m-1)K \\ \mu + \delta h, \mu + \delta h + K \dots \mu + \delta h - n + (m-1)K \end{array} ; t \right) \cdot H_{P, Q}^{M, N} \left[(xt)^{\beta_Q} \left| \begin{array}{l} (a_j \cdot \alpha_j)_{1, P} \\ (b_j \cdot \beta_j)_{1, Q-1} (b_\alpha + n \cdot \beta_Q) \end{array} \right. \right]
\end{aligned}$$

Acknowledgement

The authors are thankful to Dr. A.K. Gangele, Principal, S.S.I. Jain P.G. College, Vidisha (M.P.) for his constant inspiration.

References:

- [1] Fox, C; (1961): *The G and H-function as symmetrical Fourier Kernels*, Trans. Am. Maths, Soc. 98, 365-429.
- [2] Goyal, S.P. and Saxena, S.; (1995): *Fractional derivative operators and Multiplication formulas*, Pro. Nat. Acad. Sci. India 65(A) 95-103.
- [3] Mishra, A.P. (1975): *On a fractional operator*, Ganita 26, 1-18.
- [4] Nigam, S.K.; (2004): *On Multiplication formule for Fox's H-function*, Ganita 55(2), 141-148.
- [5] Oldham, K.B. and Spanier, J.; (1975): *The fractional calculus*, Aca. Press. N.Y. 49.
- [6] Ronghe, A.K. (1996): *On fractional differential operator involving the I-function*, Argentina Mathematicae Note Dec. Vol. 38.
- [7] Saxena, V.P. (1982): *Formal solution of Certain new pair of dual integral equations involving H-function*, Proc. Nat. Acad, Sci. India 52A, 366-375.
- [8] Sharma, C.K. and Shrivastava, S. (1992): *Some Expansion Formulae for the I-function*, Nat. Acad. Sci. India 62 (A), 236-239.
- [9] Srivastava, H.M. (1972): *Indian J. Math* 14, 1-6.
- [10] Vaishya, C.D. Jain Renu and Verma, R.C., (1989): *Certain properties of I-Function*, Proc. Acad. Sci. India 59 (A), 329-337.